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Code-A

Qu&s{fion Questions

Read the passage carefully and select the right option in the questions
1 to 5.

We Indians, who have been struggling for our rights and have finally
achieved them, are-correct to forget that a right by itself is incomplete
and, infact, cannot last long if the obligations which accompany that right
are absent. We still think too much in terms of rights and privileges and
too little in terms of obligations. That weakens a nation and we then
become merely decriers and grumble without anything positive to
contribute. That applies to the nation as a whole but much more so to the
press. The press fought for its own freedom from governmental
interference in the old days. Much that appears because of that freedom
seems to be exceptionally dangerous. The freedom of the press is an
indispensible feature of the democratic process.

Undoubtedly, even if the government dislike the liberties taken by the
press and considers them dangerous, it is wrong to obstruct the freedom
of press. By imposing restrictions you do not change anything, you merely
suppress the public manifestation of certain things, thereby causing the
idea and thought underlying them to spread further.

1. |According to the writer, rights cannot last long
(1) If the society is illiterate

(2) If they are imperfect

(3) Without the corresponding obligations

(4) Without support from the press

2. | According to the writer, if we think excessively in terms of rights and
miserably in terms of obligation.

(1) we achieve our targets
(2) we become slaves of the press

(3) the nation becomes strong

(4) we become critics
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Questions
No.
According to the writer, the press fought for its freedom from
(1) governmental interference (2) the stakeholders

(3) legal aggravations

The writer believes that

(1) the press should be suppressed

(2) Ideas and thoughts pe controlled

(3) govt. likes to give freedom to the press

(4) it is wrong to impede the freedom of the press

According to the writer, by imposing constraints
(1) we change the society that takes liberties
(2) we cause the idea and thought to spread
(3) we change the situation for the better

the idea totally

(4) foreign mercenaries

(4) we wipe out

Directions for questions 6 to 10 : Read each sentence and select
the error.
The assurance that / he will be cured from the disease / pleased him / very much.

(1) (2) (3) (4)

- Do you object to me / sittingin this class / and reading a book / for a short while ?

1) (2) 3) (4)

1 had worked / 1n this / college for /20 years.
(2) (3) (4)

Unless you build / your self-esteem [ you cannot achieve / the success in your life.

(1) (2) (3) (4)

10. |Thereismore satisfaction / for being a caring person / than in just / being a nice Person.

(1) (2) (3) (4)
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Question
No.

Questions

11.

Directions for questions 11 to 15 : select the best option for the
underlined part of the sentence.

Rahul decided to leave the contract because he never got in with any of
his associates.

(1) Got out (2) Got of
(3) Goton (4) Got together

12.

She always gets very worked up before examinations.
(1) tired (2) enthusiastic
(3) influenced (4) excited

13.

He knows how to break in horses.
(1) stop (2) ride
(3) train (4) all the above

14.

Gurmeet has been working so hard for the past four weeks, that the
burden is telling against his health.

(1) telling upon (2) telling about
(3) telling off (4) telling by

15.

The master plan has falien out due to scarcity of money.
(1) fallen apart (2) fallen through
(3) fallen back (4) fallen by

16.

Directions for questions 16 to 20 : Fill in the blanks with the correct
option.

A remark or work considered disrespectful to God or religion is
called :
(1) nepotism (2) blasphemy

(3) conspiracy (4) eccentricity
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Questions

17. |An artist’s most outstanding and memorable artistic creation 1s

called :
(1) Epicurean' (2) Expiation
(3) Magnum Opus (4) Apostate
18. |If I refuse your invitation it's 1 don’t want to come but |
haven’t any time.
(1) not that, because

(2) not because, because
(3) because, also

(4) not also, because

19. |I felt sure would die his money would go to his son.
(1) he,and (2) that he, but
(3) thathe, and that (4) thathe, and

20. |A woman who displays tantrums to attract attention is called :

(1) coquette (2) dandy

(3) philatelist (4) immoral

Directions for questions 21 to 25 : select the grammatically correct

sentence.

91. |(1) There were fewer students in the class than expected

(2) There were fewer students in the class then expected

(3) There were lesser students in the class than expected

(4) There were lesser students in the class then expected
VIOBA-EE-2016-Code-A- SET-X (4)
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Quﬁs(:;'ion Questions
22. |(1) Either my brother or I is held responsible for the theft.
(2) Either my brother or me is held responsible for the theft.
(3) Either my brother or T am held responsible for the theft.
(4) Either my brother and me are held responsible for the theft.
23. |(1) Though he was appointed as a lecturer, he soon realized that he was
not cut in for that kind of work.
(2) Though he was appointed as a lecturer, he soon realized that he was
not cutout for that kind of work.
(3) Though he was appointed as a lecturer, he soon realized that he was
not cut up to that kind of work.
(4) Though he was appointed as a lecturer, he soon realized that he was
not cut out to that kind of work.
24. |(1) Jasmine is the most fussy girl that I had met.
(2) Jasmine is the most fussy girl that I met.
(3) Jasmine is the most fussy girl that I had ever met.
(4) Jasmine is the most fussy girl that I have ever met.
25. [(1) The boy will benefit from the experience

(2)
(3)

(4)

The boy will benefit by the experience
The boy will benefit of the experience

The boy will benefit out of the experience

TYMOBA-EE-2016-Code-A-SET-X (5)
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- Qu;}s;ion Questions

26. |A, B and C started their independent businesses with equal amounts of
capital. During the first year A made 10% profit, B incurred 10% loss and
C made 5% profit. In the second year A incurred 20% loss, B made a
profit of 20% and C made profit of 5%. Which of the following is false at
the end of second year ?
(1) C is the richest (2) A is the poorest
(3) B is the richest (4) Cis richer than B

97. |How many times are the hands of a clock at right angles in a day ?
(1) 48 (2) 44
3) 24 (4) 12

98. | A started froma place at 7 A.M. with a speed of 10 km. per hour. B starts
from the same place at 9 A. M. with a speed of 15 km. per hour. When will
B meet A?
(1) 12 Noon (2) 3P.M.
(3) 2P.M. (4) 1P.M.

29. |A tank-full petrol in Ram’s motor-cycle lasts for 10 days. If he starts
using 25% more everyday, how many days will tank full petrol last ?

1 .

() 7 3 (2) 8
3) 7 (4) 6

30. |A person can walk a certain distance and drive back in 6 hours. He can
also walk both ways in 10 hours. How much time will he take to drive both
ways ”?
(1) 2 hours (2) 3hours
3) 23 hours (4) 33 hours
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31.

Given that A is the brother of B, C is the father of A, D is the brother of E
and E is the daughter of B. Then the uncle of D is

(1) E . 2) C
3) B 4) A

32.

A student in his first 3 tests received an average score of N points. If he
exceeds his previous average score by 20 points in his fourth test, then
what is the average score for the first 4 tests ?

(1) N+20 (2) N+10

(3) N+5 (4) N+4

33.

In a group of persons, 70% are males and 30% are married. If two-seventh

of the males are married, what fraction of the females is single ?

(1) (2)

wibo gl
Y g|w

(4) (4)

34.

Two numbers A and B are respectively 20% and 28% less than a third

number C. By what percentage is the number B less than the number A ?
(1) 10% (2) 9%
3) 8% 4) %

35.

What is the total number of digits printed if a book containing 150 pages

1s to be numbered from 1 to 150 ?
(1) 262 (2) 292
(3) 332 (4) 342
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36. | A father is now three times as old as his son. Five years back he was four
times as old as his son. The age of the son 18

(1) 12years (2) 15 years

(3) 16 years (4) 18 years

37. | A person standing on the platform observes a train going in one direction
takes 4 seconds to pass him. Another train of same length going in opposite
direction takes 5 seconds to pass him. The time taken by the two trains
to cross each other will be

40 50

(1) g seconds (2) 5 seconds
(3) 31 seconds (4) 49 seconds
9 9
38. |The least value of x2+6x +51s
(1 3 B =3
3) -4 4) -9

39. |40% of a company’s employees are Women. Out of the men, 60% are of age
more than 30 years. If there are 360 male employees below the age of 30,
what is the total number of employees in the company ?

(1) 1350 (2) 1500

(3) 1650 (4) 1800

40. |If Sunday comes 6 days from today and today is 15th October. The day on

1st January next year is
(1) Monday (2) Tuesday
(3) Friday (4) Saturday

|
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Quﬁs;.ion Questions

41. | Walkingat f’; of his usual speed, a man is 25 minutes late. His usual time
1S {
(1) l_% hours , (2) 3% hours
(3) 2% hours (4) 2% hours

42. |By selling a table, a person earned a profit equal to Tth of the price he
bought it. If he sold it for Rs. 375, what was the cost price ?
(1) 300 (2) 320
(3) 3125 (4) 325

43. | How much should a person lend at simple rate of interest of 15% in order
to have Rs. 784 at the end of i years ?
(1) 610 (2) 620
(3) 640 (4) 650

44. |If the numbers between 1 to 65 are divisible by 4 are written in reverse
order then which of the following numbers will be at 10th place ?
(1) 44 (2) 40
(3) 32 (4) 28

45. |Two glasses of equal volume are respectively half and 3th filled with milk.

They are then filled to the brim by adding water. Their contents are
thenpoured into another vessel. What will be the ratio of milk to water in
this vessel ?

(1) 3:1 (2) 3:2

3) 2:3 4) 5:3

TYMOBA-EE-2016-Code-A- SET-X (9)
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th and on the way turns right and goes in a
and then turns left at right angles. In which

ally flowing ?
(2) North
(4) South
47, |- vided by 6 leaves remainder 3. When the square of the
same L. ivided by 6, the remainder is
(1) 0O (2) 1
3) 2 (4) 3
48. |3year ago, the average age of a family of 5 members was 17 years. A baby
having been born, the average age of the family is the same today. The
present age of the baby 1s
(1) 2years (2) 3years
(3) 4years (4) 11§ years
49. | Geeta bought an oven and paid 10% less than the original price. She sold
it with 30% profit on the price she had paid. What % of profit did Geeta |
earn on the original price ? :
(1) 32% @) 25% ‘
(3) 17% (4) 15%
50. |In what ratio must a grocer mix two varieties of tea worth Rs. 60 a kg.

and Rs. 65 a kg. so that by selling the mixture at Rs. 68.20 a kg. he may
gain 10%?

(1) 3:2 (2) 3:4
(8) 3:6 (4) 4:5
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Qu&s{i);ion Questions

51. | Which of the following districts has been recently renamed by the Haryana

Government ?
(1) Rohtak : (2) Hisar
(3) Gurgaon (4) Faridabad

52. |Super computer ‘Param Kanchenjunga has been launched in which State

of India ?
(1) Sikkim (2) Kerala
(3) Gujarat (4) Odisha

53. |To improve rural livelihoods, Govt. has Iaunchéd Village Self Governance

Campaign’ under the Rural Development Minister of
(1) Arun J aitley

(2) Rajnath Singh

(3) J.P.Nadda

(4) Chaudhary Birender Singh

54. | Which part of the Indian Constitution deals with Fundamental Rights ?
(1) PartIII (2) PartIV
(3) PartV (4) Part VI

55. | Which day is celebrated as ‘World Peace Day’ ?
(1) 26thJuly (2) 3rd August

(3) 21st September (4) 9th August
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No. Questions
56. | Which state has second largest forest area in India ?

(1) Madhya Pradesh
(2) Arunanchal Pradesh
(3) Chattisgarh

(4) Maharashtra

57. |The Prime Minister of India is
(1) The Chief of Government
(2) Chief Advisor to President
(3) Head of Council of Minister
(4) All the above
58. |In which of the following fields Nobel Prize is not given ?
(1) Physics (2) Mathematics
(3) Chemistry (4) Medicine
59. | Who discovered Diode Bulb ?
(1) Lee De Forest (2) Archimedes
(3) Henry Becquerel (4) Sird. S. Fleming
60. |Forged documents are detected by

(1) Ultra violet rays (2) Infra-red rays

(3) Betarays (4) Gammarays
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Questions

61. | Which planet is called the twin of the earth ?
(1) Neptune (2) Venus

(3) Mars : (4) Saturn

62. | Which ofthe following method does not require medium for heat transfer?

(1) Conduction (2) Convection

(3) Radiation (4) None of these

63. |The Vikram Sarabhai space centre 1s located at
(1) Sriharikota (2) Trivandrum

(3) Trombay (4) Bengaiuru

64. |Name the hormone that stimulates the secretion of gastric juicé
(1) Renin (2) Enterokinase

(3) Enterogastrone (4) Gastrin

65. | Which of the following is the major language of World Wide Web ?
(1) HTML (2) PHP
(3) ASPNET (4) JAVA

66. |The term ‘Goods are scarce’ means
(1) There is no supply of goods
(2) There is no demand of goods

(3) Goods are limited relative to desires

(4) Goods are expensive because of shortage J

TYMOBA-EE-2016-Code-A- SET-X (13)
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Qul‘if’(fion Questions

67. | Which of the following states was first to adopt the Panchayati Raj ?
(1) Andhra Pradesh (2) Gujarat
(3) Bihar , (4) Rajasthan

68. | Who started the first English Newspaper in India ?
(1) Bal Gangadhar Tilak
(2) Raja Rammohan Roy
(3) J.A. Hickey
(4) Lord William Bentick

69. | Which among the following Five Year Plans could not start on its due
time ?
(1) 12th (2) 11th
(3) 9th (4) 8th

70. |The instrument used to measure pressure
(1) Anemometer (2) Aneroid Barometer
(3) Thermometer (4) Hygrometer

71. |Cloud Burst means

(1) Formation of artificial rain
(2) Abnormally heavy downpour of rain associated with Thunderstorm
(3) Presence of scattered flakes of cloud in the sky

(4) Sowing of seeds of a crop in cloudy weather
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ary form of government is adopted from
1) U. S (2) USSR
3) U.K | (4) Ireland
The Industrial Development Bank of India was set up In
(1) dJuly 1968 (2) dJuly 1966

(4) July 1962

Uttarakhand came into existence on
(1) 2 November 2000 (2) 6 November 2000
3) 7 November 2000 (4) None of these

The constitution is the supreme law of the land. It is protected by
(1) The Parliament

(2) The President

(3) The Supreme Court

(4) The Constituent Assembly '

76. | Which statement is correct for Indian Planning Commission ?

(1) Itismnot defined in Indian Constitution

(2) Members and Vice-Chairperson of it do not have fixed working

duration

(3) Members do not require any minimum education

(4) Al of these
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77. | VAT is imposed

(1) Directly on consumer

(2) On final stage of production

(3) On first stage of production

(4) On all stages between production and final sale

78. |The working of SEBI includes

(1) To regulate the dealings of share market
(2) To check the foul dealings in share market
(3) To control the inside trading of shares

(4) All of the above

79. |The rate at which banks lend to RBI is known as
(1) Bank Rate (2) Repo Rate

(3) Reverse Repo Rate (4) Interest Rate

1(1) Employment (2) Size of Export

(3) Rural Consumption (4) National Income

80. | Which of the following is a better measure of economic development ?

81. |The largest source of National Income in India is
(1) Service Sector (2) Agriculture

(3) Industrial Sector (4) Trade Sector
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i Devaluation means
} (1) To reduce the value of home currency in other currency
% 2) To apprecia“ce the value of home currency
| (3) To issue new currency in place of old currency
(4) None of the above
Which revenue earned by the Union Government is not distributed among
State Government ?
(1) Income Tax (2) Excise Duty
| (3) Custom Duty (4) None of the above

In which petroleum product the government has decided to mix ‘marker’

Questions

for identifying adulteration ?

(1) Diesel (2) Kerosene

(3) Petrol (4) Naptha

Which factor among the following creates obstacle 1n measuring correct

estimate of national income 7

(1) Existence of non-monetised sector

(2) Low rate of savings

(3) Inflation

(4) Under employment
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86. |Scheduled bank is the bank which is
(1) Based at foreign country
(2) Not nationalised
(3) Nationalised
(4) Included in the Second Schedule of RBI
87. |The regulator of Micro Finance in India is
(1) Ministry of Finance
(2) Reserve Bank of India
(3) Ministry of Urban Development
(4) None of the above
88. |‘Open market operation’is a part of
(1) Labour Policy (2) Income Policy
(3) Credit Policy (4) TFiscal Policy
89. |Which tax is collected by Panchayat ?
(1) SalesTax (2) Land Revenue
(3) Custom Duty (4) Tax on Local Fairs
90. | Which place India holds in milk production ?
(1) First (2) Second
(3) Third (4) None of the above
91. |Mobile Number Portability Service had been launched nation wide in

(1) New Delhi (2) Faridabad
(3) Rohtak (4) None of the above
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92. |‘Closed Economy’ is that economy in which
(1) Only export takes place
(2) Money supply is fully controlled

(3) Deficit financing takes place

(4) Neither export nor import takes place

loans to

(1) Weaker Section of Society
(2) Public Sector Industries
(3) Public Limited Companies
(4) Large Export Houses

93. |The aim of Differentiated Interest Scheme was to provide concessional

94. |UNDP has introduced a new poverty, index known as
(1) Human Poverty Index

(2) Social Poverty Index

(3) Multi-Dimentional Poverty Index

(4) None of the above

95. |The process of Budget making after re-evaluating

expenditure in every financial year is known as
(1) Performance Budgeting

(2) Deficit Budgeting

(3) Zero Base Budgeting

(4) All of the above

L

every item of
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96.

Increase in net RBI credit for Central Government represents
(1) Budgetary Deficit (2) Revenue Deficit

(3) Fiscal Deficit (4) Monetised Deficit

97.

Zero Landless Project has been launched in
(1) Karnataka (2) Madhya Pradesh

(3) Kerala (4) Gujarat

98.

Delhi— Mumbai Industrial Corridor is being established in India with the

financial and technical support of
(1) Japan (2) China

(3) Canada (4) Bangladesh

99.

What is meant by ‘White Label ATM’?

(1) ATM installed by non-Banking Companies
(2) ATM installed outside Bank Branches

(3) ATM installed in Bank Branches

(4) Swipe machines installed at point of sale

100.

On the lines of Amul in Gujarat, which of the following state has come

forward to bring a ‘White Revolution’ in the state ?
(1) Haryana (2) Punjab

(3) Uttarakhand (4) Uttar Pradesh
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Code-B
Qu%s;'ion Questions
1. | Which of the following districts has been recently renamed by the Haryana
Government ?
(1) Rohtak ' (2) Hisar
(3) Gurgaon (4) Faridabad
2. | Super computer ‘Param Kanchenjunga has been launched in which State
of India ?
(1) Sikkim (2) Kerala
(3) Guarat (4) Odisha
3. |Toimprove rurallivelihoods, Govt. has launched “Village Self Governance
Campaign’ under the Rural Development Minister of
(1) ArundJaitley
(2) Rajnath Singh
(3) J.P.Nadda
(4) Chaudhary Birender Singh
4. | Which part of the Indian Constitution deals with Fundamental Rights ?
(1) PartIII (2) PartIV
(3) PartV (4) PartVI
5. | Which day is celebrated as ‘World Peace Day’ ?
(1) 26thdJuly (2) 3rd August
(3) 21st September (4) 9th August
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Quleqsg'ion Questions
6. | Which state has second largest forest area in India ?
(1) Madhya Pradesh
(2) Arunanchal Pradesh
(3) Chattisgarh
(4) Maharashtra
7. | The Prime Minister of India 1s
(1) The Chief of Government
(2) Chief Advisor to President
(3) Head of Council of Minister
(4) All the above
8. |In which of the following fields Nobel Prize is not given ?
(1) Physics (2) Mathematics
(3) Chemistry (4) Medicine
9. |Who discovered Diode Bulb ?
(1) Lee De Forest (2) Archimedes
(3) Henry Becquerel (4) SirdJ.S. Fleming
10. |Forged documents are detected by
(1) Ultra violet rays (2) Infra-red rays
(3) DBetarays (4) Gammarays
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11. | Which planet is called the twin of the earth ?
(1) Neptune (2) Venus
(3) Mars : (4) Saturn

12. | Which of the following method does not require medium for heat transfer?
(1) Conduction (2) Convection
(3) Radiation (4) None of these

13. |The Vikram Sarabhai space centre is located at
(1) Sriharikota (2) Trivandrum
(3) Trombay (4) Bengaluru

14. |Name the hormone that stimulates the secretion of gastric juice
(1) Renin (2) Enterokinase
(3) Enterogastrone (4) Gastrin

15. | Which of the following is the major language of World Wide Web ?
(1) HTML (2) PHP
(3) ASPNET (4) JAVA

16. |The term ‘Goods are scarce’ means

(1) There is no supply of goods
(2) There is no demand of goods

(3) Goods are limited relative to desires

(4) Goods are expensive because of shortage
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17. | Which of the following states was first to adopt the Panchayati Raj ?

(1) Andhra Pradesh (2) Gujarat
(3) Bihar (4) Rajasthan

18. | Who started the first English Newspaper in India?
(1) Bal Gangadhar Tilak

(2) Raja Rammohan Roy

(3) J.A. Hickey

(4) Lord William Bentick

19. | Which among the following Five Year Plans could not start on its dus

time ?
(1) 12th (2) 11th
(3) 9th (4) 8th

20. |The instrument used to measure pressure
(1) Anemometer (2) Aneroid Barometer

(3) Thermometer (4) Hygrometer

21. |Cloud Burst means

(1) Formation of artificial rain

(2) Abnormally heavy downpour of rain associated with Thunderstorr
(3) Presence of scattered flakes of cloud in the sky

(4) Sowing of seeds of a crop in cloudy weather
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292. | The idea of parliamentary form of government is adopted from
(1) U.S. ‘ (2) USSR
3) U.K (4) Ireland

923. | The Industrial Development Bank of India was set up in
(1) July 1968 (2) dJuly 1966
(3) dJuly 1964 (4) July 1962

24. |Uttarakhand came into existence on
(1) 2 November 2000 (2) 6 November 2000
(3) 7 November 2000 (4) None of these

25. |The constitution is the supreme law of the land. It is protected by

(1) The Parliament

(2) The President

(3) The Supreme Court

(4) The Constituent Assembly
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Read the passage carefully and select the right option in the questions
26 to 30.

We Indians, who have been struggling for our rights and have finally
achieved them, are correct to forget that a right by itself is incomplete
and, infact, cannot last long if the obligations which accompany that right
are absent. We still think too much in terms of rights and privileges and
too little in terms of obligations. That weakens a nation and we then
become merely decriers and grumble without anything positive to
contribute. That applies to the nation as a whole but much more so to the
press. The press fought for its own freedom from governmental
interference in the old days. Much that appears because of that freedom
seems to be exceptionally dangerous. The freedom of the press is an
indispensible feature of the democratic process.

Undoubtedly, even if the government dislike the liberties taken by the
press and considers them dangerous, it is wrong to obstruct the freedom
of press. By imposing restrictions you do not change anything, you merely
suppress the public manifestation of certain things, thereby causing the
idea and thought underlying them to spread further.

26. |According to the writer, rights cannot last long
(1) If the society is illiterate

(2) If they are imperfect

(3) Without the corresponding obligations

(4) Without support from the press

27. |According to the writer, if we think excessively in terms of rights and
miserably in terms of obligation.

(1) we achieve our targets
(2) we become slaves of the press
(3) the nation becomes strong

(4) we become critics
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28.

According to the writer, the press fought for its freedom from
(1) governmental interference (2) the stakeholders
(3) legal aggravations (4) foreign mercenaries

29.

The writer believes that

(1) the press should be suppressed

(2) Ideas and thoughts be controlled

(3) govt. likes to give freedom to the press

(4) it is wrong to impede the freedom of the press

30.

According to the writer, by imposing constraints
(1) we change the society that takes liberties
(2) we cause the idea and thought to spread
(3) we change the situation for the better

(4) we wipe out the idea totally

31.

Directions for questions 31 to 35 : Read each sentence and select
the error.

The assurance that / he will be cured from-the disease / pleased him / very much.

(1) (2) 3) (4)

32.

Do vou object to me / sitting in this class / and reading a book / for a short while ?

(1) (2) (3) (4)

33.

I had worked / in this / college for /20 years.
(1) (2) (3) (4)

34.

Unless you build / your self-esteem / you cannot achieve / the success in your life.
(1) (2) (3) (4)

35.

There is more satisfaction / for being a caring person / thaninjust / being a nice person.

(1) (2) (3) (4)
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Directions for questions 36 to 40 : select the best option for the
underlined part of the sentence.

36. |Rahul decided to leave the contract because he never got in with any of
his associates.
(1) Got out (2) Got of
(3) Got on (4) Got together

37. |She always gets very worked up before examinations.
(1) tired (2) enthusiastic
(3) influenced (4) excited

38. | He knows how to break in horses.
(1) stop (2) ride
(3) train (4) all the above

39. |Gurmeet has been working so hard for the past four weeks, that the
burden is telling against his health.
(1) tellingupon (2) telling about
(3) telling off (4) telling by

40. |The master plan has fallen out due to scarcity of money.
(1) fallen apart (2) fallen through
(3) fallenback (4) fallenby
Directions for questions 41 to 45 : Fill in the blanks with the correct
option.

41. |A remark or work considered disrespectful to God or religion is
called .
(1) nepotism (2) blasphemy
(3) conspiracy (4) eccentricity
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42. | An artist’s most outstanding and memorable artistic creation is
called .
(1) Epicurean A (2) Expiation
(3) Magnum opus (4) Apostate

43. |If I refuse your invitation it's __ I don’t want to come but 1
haven’t any time.
(1) not that, because
(2) not because, because
(3) because, also
(4) not also, because

44. |Ifeltsure __ would die _____ his money would go to his son.
(1) he, and (2) that he, but
(3) that he, and that (4) that he, and

45. | A woman who displays tantrums to attract attention is called
(1) coquette (2) dandy
(3) philatelist (4) 1mmoral
Directions for questions 46 to 50 : select the grammatically correct
sentence.

46. |(1) There were fewer students in the class than expected
(2) There were fewer students in the class then expected
(3) There were lesser students in the class than expected
(4) There were lesser students in the class then expected
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47. |(1) Either my brother or I is held responsible for the theft.
(2) Either my brother or me is held responsible for the theft.
(3) Either my brother or I am held responsible for the theft.
(4) Either my brother and me are held responsible for the theft.
48. |(1) Though he was appointed as a lecturer, he soon realized that he was
not cut in for that kind of work.
(2) Though he was appointed as a lecturer, he soon realized that he was
not cutout for that kind of work.
(3) Though he was appointed as a lecturer, he soon realized that he was
not cut up to that kind of work.
(4) Though he was appointed as a lecturer, he soon realized that he was
not cut out to that kind of work.
49. |(1) Jasmine is the most fussy girl that I had met.
(2) Jasmine is the most fussy girl that [ met.
(3) Jasmine is the most fussy girl that I had ever met.
(4) Jasmine is the most fussy girl that I have ever met.
50. |(1) The boy will benefit from the experience
(2) The boy will benefit by the experience
(3) The boy will benefit of the experience
(4) The boy will benefit out of the experience
]
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51.

Which statement is correct for Indian Planning Commission ?
(1) Ttisnot defined in Indian Constitution

(9) Members and Vice-Chairperson of it do not have fixed working

duration
(3) Members do not require any minimum education

(4) All of these

52.

VAT is imposed

(1) Directly on consumer

(2) On final stage of production
(3) On first stage of production

(4) On all stages between production and final sale

93.

The working of SEBI includes

(1) To regulate the dealings of share market
(2) To check the foul dealings in share market
(3) To control the inside trading of shares

(4) All of the above

54.

The rate at which banks lend to RBI is known as
(1) Bank Rate (2) Repo Rate

(3) Reverse Repo Rate (4) Interest Rate
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55. | Which of the following is a better measure of economic development ?
(1) Employment (2) Size of Export
(3) Rural Consumption (4) National Income

56. |The largest source of National Income in India is
(1) Service Sector (2) Agriculture
(3) Industrial Sector (4) Trade Sector

57. |Devaluation means
(1) To reduce the value of home currency in other currency
(2) To appreciate the value of home currency
(3) To'issue new currency in place of old currency
(4) None of the above

58. | Which revenue earned by the Union Government is not distributed among
State Government ?
(1) Income Tax (2) Excise Duty
(3) Custom Duty (4) None of the above

59. |In which petroleum product the government has decided to mix ‘marker’

for identifying adulteration ?
(1) Diesel (2) Kerosene

(3) Petrol (4) Naptha
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60. | Which factor among the following creates obstacle in measuring correct
estimate of national income ?
(1) Existence of non-monetised sector
(2) Low rate of sa\}ings
(3) Inflation
(4) Under employment
61. |Scheduled bank is the bank which is
(1) Based at foreign country
(2) Notnationalised
(3) Nationalised
(4) Included in the Second Schedule of RBI
62. |The regulator of Micro Finance in India is
(1) Ministry of Finance
(2) Reserve Bank of India
(3) Ministry of Urban Development
(4) None of the above
63. |‘Open market operation’ is a part of
(1) Labour Policy (2) In4c0me Policy
(3) Credit Policy (4) Fiscal Policy
64. | Which tax is collected by Panchayat ?
(1) Sales Tax (2) Land Revenue
(3) Custom Duty (4) Taxon Local Fairs
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65. | Which place India holds in milk production ?
(1) First (2) Second
(3) Third , (4) None of the above
66. | Mobile Number Portability Service had been launched nation wide in
(1) New Delhi (2) Faridabad
(3) Rohtak (4) None of the above
67. |‘Closed Economy’ is that economy in which
(1) Only export takes place
(2) Money supply is fully controlled
(3) Deficit financing takes place
(4) Neither export nor import takes place
68. |The aim of Differentiated Interest Scheme was to provide concessional
loans to
(1) Weaker Section of Society
(2) Public Sector Industries
(3) Public Limited Companies
(4) Large Export Houses
69. | UNDP has introduced a new poverty, index known as
(1) Human Poverty Index
(2) Social Poverty Index
(3) Multi-Dimentional Poverty Index
(4) None of the above
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70. |The process of Budget making after re-evaluating every item of

expenditure in every financial year is known as
(1) Performance Budgeting

(2) Deficit Budgeting

(3) Zero Base Budgeting

(4) All of the above

71. |Increase in net RBI credit for Central Government represents
(1) Budgetary Deficit (2) Revenue Deficit
(3) Fiscal Deficit (4) Monetised Deficit

72. |Zero Landless Project has been launched in
(1) Karnataka (2) Madhya Pradesh
(3) Kerala (4) Gujarat

73. | Delhi—- Mumbai Industrial Corridor is being established in India with the

financial and technical support of
(1) Japan (2) China
(3) Canada (4) Bangladesh

74. | What is meant by ‘White Label ATM’ ?

(1) ATM installed by non-Banking Companies
(2) ATM installed outside Bank Branches

(3) ATM installed in Bank Branches

(4) Swipe machines installed at point of sale
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70. |The process of Budget making after re-evaluating every item of

expenditure in every financial year is known as
(1) Performance Budgeting

(2) Deficit Budgeting

(3) Zero Base Budgeting

(4) All of the above

71. |Increase in net RBI credit for Central Government represents
(1) Budgetary Deficit (2) Revenue Deficit
(3) Fiscal Deficit (4) Monetised Deficit

72. |Zero Landless Project has been launched in
(1) Karnataka (2) Madhya Pradesh
(3) Kerala (4) Gujarat

73. | Delhi—- Mumbai Industrial Corridor is being established in India with the

financial and technical support of
(1) dJapan (2) China
(3) Canada (4) Bangladesh

74. | What is meant by ‘White Label ATM’ ?

(1) ATM installed by non-Banking Companies
(2) ATM installed outside Bank Branches

(3) ATM installed in Bank Branches

(4) Swipe machines installed at point of sale
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75. | On the lines of Amul in Gujarat, which of the following state has come

forward to bring a ‘White Revolution’ in the state ?

(1) Haryana (2) Punjab
(3) Uttarakhand (4) Uttar Pradesh

76. | A, B and C started their independent businesses with equal amounts of
capital. During the first year A made 10% profit, B incurred 10% loss and
C made 5% profit. In the second year A incurred 20% loss, B made a
profit of 20% and C made profit of 5%. Which of the following is false at
the end of second year ? ’
(1) C is the richest (2) A is the poorest
(3) B s the richest (4) Cisricher than B

77. |How many times are the hands of a clock at right angles in a day ?
(1) 48 (2) 4
3) 24 4) 12

78. | A started from a place at 7 A.M. with a speed of 10 km. per hour. B starts
from the same place at 9 A. M. with a speed of 15 km. per hour. When will
B meet A ?
(1) 12 Noon (2) 8B,
(3) 2P.M. 4) 1P.M,

79. | A tank-full petrol in Ram’s motor-cycle lasts for 10 days. If he starts

using 25% more everyday, how many days will tank full petrol last ?
1

(D) 7§ (2) 8

(3) 7 (4) 6
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80.

A person can walk a certain distance and drive back in 6 hours. He can
also walk both ways in 10 hours. How much time will he take to drive both
ways ?

(1) 2 hours (2) 3 hours

(3) 2% hours (4) 3 hours

81.

Given that A is the brother of B, C is the father of A, D is the brother of E
and E is the daughter of B. Then the uncle of D is

(1) E 2) C
3) B 4) A

82.

A student in his first 3 tests received an average score of N points. If he
exceeds his previous average score by 20 points in his fourth test, then

what is the average score for the first 4 tests ?
(1) N+20 (2) N+10
(3) N+5 (4) N+4

83.

In a group of persons, 70% are males and 30% are married. If two-seventh

of the males are married, what fraction of the females is single ?

(1) (2)

Wb o)

(4) (4)

~JIM0 Jlw

84.

Two numbers A and B are respectively 20% and 28% less than a third

number C. By what percentage is the number B less than the number A ?
() 10% (2) 9%
3) 8% (4) 7%
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85. | What is the total number of digits printed if a book containing 150 pages
is to be numbered from 1 to 150 ?
(1) 262 : (2) 292
(3) 332 (4) 342
86. |A father is now three times as old as his son. Five years back he was four
times as old as his son. The age of the son 18
(1) 12 years (2) 15 years
(3) 16years (4) 18 years
77. | A person standing on the platform observes a train going in one direction
takes 4 seconds to pass him. Another train of same length going in opposite
direction takes 5 seconds to pass him. The time taken by the two trains
to cross each other will be
(1) 40 seconds (2) 50 seconds
9 9
(3) —3-91— seconds (4) -4—;)— seconds
88. |The least value of x* + 6x + 5 18
(1) 3 2 -3
(3) -4 4) -5
89. |40% of a company’s employees are women. Out of the men, 60% are of age

more than 30 years. If there are 360 male employees below the age of 30,
what is the total number of employees in the company ?

(1) 1350 (2) 1500
(3) 1650 (4) 1800
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90. | If Sunday comes 6 days from today and today is 15th October. The day
on Ist January next year is

(1) Monday A (2) Tucsday
(3) Friday (4) Saturday

91. |Walking at % of his usual speed, a man is 25 minutes late. His usual time
1S

(1) 1% hours (2) 3% hours
(3) 2% hours (4) 24111()111'8

92. | By selling a table, a person earned a profit equal to %th of the price he
bought it. If he sold it for Rs. 375, what was the cost price ?

(1) 300 (2) 320

(3) 3125 (4) 325

93. |[How much should a person lend at simple rate of interest of 15% in order
to have Rs. 784 at the end of 1% years ?

(1) 610 (2) 620

(3) 640 (4) 650

94. |If the numbers between 1 to 65 are divisible by 4 are written In reverse
order then which of the following numbers will be at 10th place ?

(1) 44 (2) 40

(3) 32 (4) 28

95. | Two glasses of equal volume are respectively half and 2th filled with
milk. They are then filled to the brim by adding water. Their contents
are thenpoured into another vessel. What will be the ratio of milk to
water in this vessel ?

(1} 3:1 (2) 3:2

(3) 2:3 4) 5:3

TYMOBA-EE-2016-Code-B- SET-X ( 19 )




Code-B

Question :
No. Questions
96. | A river flows north to south and on the way turns right and goes in a

semi-circle round a hill, and then turns left at right angles. In which
direction is the river finally flowing ?

(1) East (2) North
(3) West (4) South

97. | Anumber when divided by 6 leaves remainder 3. When the square of the
same number is divided by 6, the remainder is
(1) 0O 2) 1
(3) 2 ' 4) 3

98. |3 year ago, the average age of a family of 5 members was 17 years. A baby
having been born, the average age of the family is the same today. The
present age of the baby is
(1) 2years (2) 38years
(3) 4 years (4) 1% years

99. |Geeta bought an oven and paid 10% less than the original price. She sold
it with 30% profit on the price she had paid. What % of profit did Geeta
earn on the original price ?
(1) 32% (2) 25%
(3) 17% (4) 15%

100. |In what ratio must a grocer mix two varieties of tea worth Rs. 60 a kg.

and Rs. 65 a kg. so that by selling the mixture at Rs. 68.20 a kg. he may
gain 10% ?

(ly 2:=2 (2) 3:4
(3) 3:9 4) 4:5
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Qu&s&ion Questions
1. | Which statement is correct for Indian Planning Commission ?

(1) Ttis not defined in Indian Constitution

(2) Members and Vice-Chairperson of it do not have fixed working

duration
(3) Members do not require any minimum education

(4) All of these

2. | VAT is imposed

(1) Directly on consumer

(2) On final stage of production
(3) On first stage of production

(4) On all stages between production and final sale

3. | The working of SEBI includes
(1) To regulate the dealings of share market
(2) To check the foul dealings in share market

(3) To control the inside trading of shares

(4) All of the above

4. The rate at which banks lend to RBI is known as
(1) Bank Rate (2) Repo Rate

(3) Reverse Repo Rate (4) Interest Rate
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5. | Which of the following is a better measure of economic development ?
(1) Employment (2) Size of Export
(3) Rural Consumption (4) National Income

6. |The largest source of National Income in India is

(1) Service Sector (2) Agriculture
(3) Industrial Sector (4) Trade Sector
7. Devaluation means

(1) To reduce the value of home currency in other currency

(2) To appreciate the value of home currency
|

f (3) Toissue new currency in place of old currency

(4) None of the above

8. | Which revenue earned by the Union Government is not distributed among

State Government ?
(1) Income Tax (2) Excise Duty

(3) Custom Duty (4) None of the above

9. |In which petroleum product the government has decided to mix ‘marker’

for identifying adulteration ?
(1) Diesel (2) Kerosene

(3) Petrol (4) Naptha
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| 10. | Which factor among the following creates obstacle in measuring correct

estimate of national income ?
(1) Existence of non-monetised sector
(2) Low rate of savings
(3) Inflation
(4) Under employment

11. | Scheduled bank is the bank which is
(1) Based at foreign country
(2) Not nationalised
(3) Nationalised
(4) Included in the Second Schedule of RBI

12. | The regulator of Micro Finance in India is
(1) Ministry of Finance
(2) Reserve Bank of India
(3) Ministry of Urban Development
(4) None of the above

13. |‘Open market operation’ is a part of
(1) Labour Policy (2) Income Policy
(3) Credit Policy (4) Fiscal Policy

14. | Which tax is collected by Panchayat ?
(1) SalesTax (2) Land Revenue

(3) Custom Duty (4) Tax on Local Fairs
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15. | Which place India holds in milk production ?
(1) First (2) Second
(3) Third 7 (4) None of the above

16. | Mobile Number Portability Service had been launched nation wide in
(1) New Delhi (2) Faridabad
(3) Rohtak (4) None of the above

17. |‘Closed Economy’ is that economy in which
(1) Only export takes place
(2) Money supply is fully controlled
(3) Deficit financing takes place
(4) Neither export nor import takes place

18. |The aim of Differentiated Interest Scheme was to provide concessional
loans to
(1) Weaker Section of Society
(2) Public Sector Industries
(3) Public Limited Companies
(4) Large Export Houses

19. | UNDP has introduced a new poverty, index known as

(1) Human Poverty Index

(2) Social Poverty Index

(3) Multi-Dimentional Poverty Index
(4) None of the above
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20.

The process of Budget making after re-evaluating every item of

expenditure in every financial year is known as
(1) Performance Budgeting

(2) Deficit Budgeting

(3) Zero Base Budgeting

(4) All of the above

21.

Increase in net RBI credit for Central Government represents
(1) Budgetary Deficit (2) Revenue Deficit
(3) Fiscal Deficit (4) Monetised Deficit

22,

Zero Landless Project has been launched in
(1) Karnataka (2) Madhya Pradesh
(3) Kerala (4) Gujarat

23.

Delhi— Mumbai Industrial Corridor is being established in India with the

financial and technical support of
(1) Japan (2) China
(3) Canada (4) Bangladesh

24.

What is meant by ‘White Label ATM’ ?

(1) ATM installed by non-Banking Companies
(2) ATM installed outside Bank Branches

(3) ATM installed in Bank Branches

(4) Swipe machines installed at point of sale
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25. |On the lines of Amul in Gujarat, which of the following state has come
forward to bring a ‘White Revolution’ in the state ?
(1) Haryana (2) Punjab
(3) Uttarakhand (4) Uttar Pradesh

26. | Which of the following districts has been recently renamed by the Haryana
Government ?
(1) Rohtak (2) Hisar
(3) Gurgaon (4) Faridabad

27. | Super computer ‘Param Kanchenjunga has been launched in which State
of India ?
(1) Sikkim (2) Kerala
(3) Gujarat (4) Odisha

28. |Toimprove rural livelihoods, Govt. has launched “Village Self Governance
Campaign’ under the Rural Development Minister of
(1) ArundJaitley
(2) Rajnath Singh
(3) J.P.Nadda
(4) Chaudhary Birender Singh

29. |Which part of the Indian Constitution deals with Fundamental Rights ?

(1) PartIII (2) PartIV
(3) PartV (4) Part VI
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30. | Which day is celebrated as ‘World Peace Day’ ?
(1) 26thJuly (2) 3rd August
(3) 21st September (4) 9th August

31. | Which state has second largest forest area in India ?
(1) Madhya Pradesh
(2) Arunanchal Pradesh
(3) Chattisgarh
(4) Maharashtra

32. |The Prime Minister of India is
(1) The Chief of Government
(2) Chief Advisor to President
(3) Head of Council of Minister
(4) All the above

33. |In which of the following fields Nobel Prize is not given ?
(1) Physics (2) Mathematics
(3) Chemistry (4) Medicine

34. | Who discovered Diode Bulb ?
(1) Lee De Forest (2) Archimedes
(3) Henry Becquerel (4) Sird.S. Fleming
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35. |Forged documents are detected by
(1) Ultra violet rays (2) Infra-red rays
(3) Beta rayé (4) Gammarays

36. | Which planet is called the twin of the earth ?
(1) Neptune (2) Venus
(3) Mars (4) Saturn

37. | Which of the following method does not require medium for heat transfer?
(1) Conduction (2) Convection
(3) Radiation (4) None of these

38. |The Vikram Sarabhai space centre is located at
(1) Sriharikota (2) Trivandrum
(3) Trombay (4) Bengaluru

39. |Name the hormone that stimulates the secretion of gastric juice
(1) Renin (2) Enterokinase
(3) Enterogastrone (4) Gastrin

40. | Which of the following is the major language of World Wide Web ?

(1) HTML (2) PHP

(3) ASPNET (4) JAVA
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41. |The term ‘Goods are scarce’ means

(1) There is no supply of goods

(2) There is no demand of goods

(3) Goods are limited relative to desires

(4) Goods are expensive because of shortage

42. | Which of the following states was first to adopt the Panchayati Raj ?
(1) Andhra Pradesh (2) Gujarat
(3) Bihar (4) Rajasthan

43. | Who started the first English Newspaper in India ?
(1) Bal Gangadhar Tilak

(2) Raja Rammohan Roy

(3) J.A. Hickey

(4) Lord William Bentick

44. |Which among the following Five Year Plans could not start on its due

time ?
(1) 12th (2) 11th
(3) 9th (4) 8th

45. |The instrument used to measure pressure
(1) Ancmometer (2) Aneroid Barometer

(3) Thermometer (4) Hygrometer
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46. |Cloud Burst means

(1) Formation of artificial rain

(2) Abnormally heavy downpour of rain associated with Thunderstorm
(3) Presence of scattered flakes of cloud in the sky

(4) Sowing of seeds of a crop in cloudy weather

47. |The idea of parliamentary form of government is adopted from
(1) U.S. (2) USSR
3) U.K (4) Ireland

48. |The Industrial Development Bank of India was set up in
(1) July 1968 (2) July 1966

(3) July 1964 (4) July 1962

49. |Uttarakhand came into existence on
(1) 2 November 2000 (2) 6 November 2000

(3) 7 November 2000 (4) None of these

50. |The constitution is the supreme law of the land. It is protected by
(1) The Parliament

(2) The President

(3) The Supreme Court

(4) The Constituent Assembly
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51. |A, B and C started their independent businesses with equal amounts of

capital. During the first year A made 10% profit, B incurred 10% loss and
C made 5% profit. In the second year A incurred 20% loss, B made a
profit of 20% and C made profit of 5%. Which of the following is falsc at

the end of second year ?
(1) C is the richest
(3) B is the richest

(2) A s the poorest
(4) Cisricher than B

52. |How many times are the hands of a clock at right angles in a day ?
(1) 48 (2) 44
(3) 24 (4) 12
53. | A started from a place at 7 A.M. with a speed of 10 km. per hour. B starts
from the same place at 9 A. M. with a speed of 15 km. per hour. When will
B meet A ?
(1) 12 Noon (2) 3P.M.
(3) 2P.M. (4) 1P.M.
54. | A tank-full petrol in Ram’s motor-cycle lasts for 10 days. If he starts
using 25% more everyday, how many days will tank full petrol last ?
1
(1 7 5 (2) 8
3) 7 (4) 6
55. | A person can walk a certain distance and drive back in 6 hours. He can

also walk both ways in 10 hours. How much time will he take to drive both

ways ?
(1) 2 hours (2) 3 hours
(3) 2}—) hours (4) 3% hours
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56. |Given that A is the brother of B, C is the father of A, D is the brother of E
and E is the daughter of B. Then the uncle of D is
(1) E : (2) C
(3) B 4) A
57. | A student in his first 3 tests received an average score of N points. If he
exceeds his previous average score by 20 points in his fourth test, then
what is the average score for the first 4 tests ?
(1) N+20 (2) N+10
(3) N+5 (4) N+4
58. |In a group of persons, 70% are males and 30% are married. If two-seventh
of the males are married, what fraction of the females is single ?
1 3
(1 3 : (2) 7
2 )
4) = Ak
(4) 3 (4) 7
59. |Two numbers A and B are respectively 20% and 28% less than a third
number C. By what percentage is the number B less than the number A ?
(1) 10% (2) 9%
(3) 8% 4) 7%
60. | What is the total number of digits printed if a book containing 150 pages

is to be numbered from 1 to 150 ?
(1) 262 (2) 292
(8) 332 (4) 342
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61. | A fatheris now three times as old as his son. Five years back he was four
times as old as his son. The age of the son 1s
(1) 12years (2) 1byears
(3) l6years (4) 18 years
62. | A person standing on the platform observes a train going in one direction
takes 4 seconds to pass him. Another train of same length going in opposite
direction takes 5 seconds to pass him. The time taken by the twd trains
to cross each other will be
(1) 40 econds (2) 20 seconds
9 9
(3) 8L seconds (4) L. seconds
9 B
63. |[The least value of x* + 6x + 5 is
(1) 3 (2) -3
3) -4 4) -5
64. |40% of a company’s employees are women. Out of the men, 60% are of age
more than 30 years. If there are 360 male employees below the age of 30,
what is the total number of employees in the company ?
(1) 1350 (2) 1500
(3) 1650 (4) 1800
65. |If Sunday comes 6 days from today and today is 15th October. The day on

1st January next year is
(1) Monday (2) Tuesday
(3) Friday (4) Saturday
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66. |Walkingat % of his usual speed, a man is 25 minutes late. His usual time
15
(1) 1% hours (2) 3% hours
(3) 2% hours (4) 2% hours

67. |By sclling a table, a person earned a profit equal to %th of the price he
bought it. If he sold it for Rs. 375, what was the cost price ? '
(1) 300 (2) 320
(3) 312.5 (4) 325

68. |How much should a person lend at simple rate of interest of 15% in order
to have Rs. 784 at the end of 115 years ?
(1) 610 (2) 620
(3) 640 (4) 650

69. |If the numbers between 1 to 65 are divisible by 4 are written in reverse
order then which of the following numbers will be at 10th place ?
(1) 44 (2) 40
(3) 32 (4) 28

70. |Two glasses of equal volume are respectively half and 3th filled with milk.
They are then filled to the brim by adding water. Their contents are
thenpoured into another vessel. What will be the ratio of milk to water in
this vessel ?
(1) 3:1 (2) 3:2
3) 2:3 (4) 5:3
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71. | A river flows north to south and on the way turns right and goes in a
semi-circle round a hill, and then turns left at right angles. In which
direction is the river finally flowing ?

(1) East ' (2) North

(3) West (4) South

72. | Anumber when divided by 6 leaves remainder 3. When the square of the
same number is divided by 6, the remainder is ‘

(1) 0 (2) 1
(3) 2 4) 3

73. |3 year ago, the average age of a family of 5 members was 17 years. A baby
having been born, the average age of the family is the same today. The

present age of the baby is
(1) 2years (2) 3years
(3) 4years (4) 1% years

74. | Gecta bought an oven and paid 10% less than the original price. She sold
it with 30% profit on the price she had paid. What % of profit did Geeta
earn on the original price ?

(1) 32% (2) 25%

(3) 17% (4) 15%

75. |In what ratio must a grocer mix two varieties of tea worth Rs. 60 a kg.

and Rs. 65 a kg. so that by selling the mixture at Rs. 68.20 a kg. he may

gain 10%?
(1) 3:2 (2) 38:4
3) 3:5 (4) 4:5
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Read the passage carefully and select the right option in the questions
76 to 80.

We Indians, who have been struggling for our rights and have finally

achieved them, are correct to forget that a right by itself is incomplete

and, infact, cannot last long if the obligations which accompany that right

are absent. We still think too much in terms of rights and privileges and

too little in terms of obligations. That weakens a nation and we then

become merely decriers and grumble without anything positive to

contribute. That applies to the nation as a whole but much more so to the

press. The press fought for its own freedom from governmental

interference in the old days. Much that appears because of that freedom

seems to be exceptionally dangerous. The freedom of the press is an

indispensible feature of the democratic process.

Undoubtedly, even if the government dislike the liberties taken by the

press and considers them dangerous, it is wrong to obstruct the freedom

of press. By imposing restrictions you do not change anything, you merely

suppress the public manifestation of certain things, thereby causing the

idea and thought underlying them to spread further.

According to the writer, rights cannot last long
(1) If the society is 1lliterate

(2) If they are imperfect
(3) Without the corresponding obligations
(4) Without support from the press

According to the writer, if we think excessively in terms of rights and |

miserably in terms of obligation.

(1) we achieve our targets

(2) we become slaves of the press
(3) the nation becomes strong

(4) we become critics
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78. | According to the writer, the press fought for its freedom from
(1) governmental interference (2) the stakeholders
(3) legal aggravations (4) foreign mercenaries

79. | The writer believes that

(1) the press should be suppressed

(2) Ideas and thoughts be controlled

(3) govt. likes to give freedom to the press

(4) 1t is wrong to impede the freedom of the press

80. |According to the writer, by imposing constraints
(1) we change the society that takes liberties
(2) we cause the idea and thought to spread
(3) we change the situation for the better

(4) we wipe out the idea totally

Directions for questions 81 to 85 : Read each sentence and select
the error.

81. |The assurance that / he will be cured from the disease / pleased him / very much.
(1) (2) (3) (4)

82. | Do you object to me / sitting in this class/ and reading a book / for a short while ?
(1) (2) (3) (4)

83. |l had worked / in this / college for /20 vears.
(1) (2) (3) (4)

84. | Unless you build / your self-esteem / yvou cannot achieve / the success in vour life.
(1) (2) (3) (4)

85. | There is more satisfaction / for being a caring person / than in Just / being a nice person.
(1) (2) (3) (4)
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Directions for questions 86 to 90 : seclect the best option for the
underlined part of the sentence.

86. |Rahul decided to leave the contract because he never got in with any of
his associates.
(1) Got out (2) Got of
(3) Got on (4) Got together

87. |She always gets very worked up before examinations.
(1) tired (2) enthusiastic
(8) influenced (4) excited

88. |He knows how to break in horses.
(1) stop (2) ride
(3) ftrain (4) all the above

89. |Gurmeet has been working so hard for the past four weeks, that the
purden is telling against his health.
(1) telling upon (2) telling about
(3) telling off (4) telling by

90. |The master plan has fallen out due to scarcity of money.
(1) fallen apart (2) fallen through
(3) fallen back (4) fallenby
Directions for questions 91 to 95 : Fill in the blanks with the correct
option.

91. |A remark or work considered disrespectful to God or religion 1s
called ;
(1) nepotism (2) blasphemy
(3) conspiracy (4) eccentricity
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92. |An artist’s most outstanding and memorable artistic creation is
called :
(1) Epicurean (2) Expiation
(3) Magnum opus (4) Apostate

93. |If I refuse your invitation it’s I don’t want to come but I
haven’t any time.
(1) not that, because
(2) not because, because
(3) because, also
(4) not also, because

94. |1 felt sure would die his money would go to his son.
(1) he, and (2) that he, but
(3) that he, and that (4) that he, and

95. | A woman who displays tantrums to attract attention is called
(1) coquette (2) dandy
(3) philatelist (4) immoral
Directions for questions 96 to 100 : select the grammatically correct
sentence.

96. |(1) There were fewer students in the class than expected

(2) There were fewer students in the class then expected

(3) There were lesser students in the class than expected

(4) There were lesser students in the class then expected
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97.

(1)
(2)
(3)
(4)

Either my brother or I is held responsible for the theft.
Either my brother or me is held responsible for the theft.
Either my brother or I am held responsible for the theft.

Either my brother and me are held responsible for the theft.

98.

(2)

(3)

(4)

Though he was appointed as a lecturer, he soon realized that he was

not cut in for that kind of work.

Though he was appointed as a lecturer, he soon realized that he was

not cutout for that kind of work.

Though he was appointed as a lecturer, he soon realized that he was

not cut up to that kind of work.

Though he was appointed as a lecturer, he soon realized that he was

not cut out to that kind of work.

99.

(1)
(2)
(3)
(4)

Jasmine is the most fussy girl that I had met.
Jasmine is the most fussy girl that I met.
Jasmine is the most fussy girl that I had ever met.

Jasmine is the most fussy girl that I have ever met.

100.

(1)
(2)
(3)
(4)

The boy will benefit from the experience
The boy will benefit by the experience
The boy will benefit of the experience

The boy will benefit out of the experience
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1. |A, B and C started their independent businesses with equal amounts of

capital. During the first year A made 10% profit, B incurred 10% loss and
C made 5% profit. In the second year A incurred 20% loss, B made a
profit of 20% and C made profit of 5%. Which of the following is false at
the end of second year ?

(1) Cis the richest (2) A is the poorest
(3) B is the richest (4) Cisricher than B

2. | How many times are the hands of a clock at right angles in a day ?
(1) 48 (2) 4
(3) 24 (4) 12

3. | A started from a place at 7 A.M. with a speed of 10 km. per hour. B starts

from the same place at 9 A. M. with a speed of 15 km. per hour. When
will B meet A ?

(1) 12 Noon (2) 3P.M.
(3) 2P.M. (4) 1P.M.

4. |A tank-full petrol in Ram’s motor-cycle lasts for 10 days. If he starts

using 25% more everyday, how many days will tank full petrol last ?
|

1 735 (2) 8

3) 7 (4) 6

5. |A person can walk a certain distance and drive back in 6 hours. He can
also walk both ways in 10 hours. How much time will he take to drive both

ways ?
(1) 2 hours (2) 3 hours
3) 212 Hours (4) 312 hotits
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6.

Given that A is the brother of B, C is the father of A, D is the brother of E
and E is the daughter of B. Then the uncle of D is

(1) E (2) C
(3) B 4) A
7. | A student in his first 3 tests received an average score of N points. If he
exceeds his previous average score by 20 points in his fourth test, then
what is the average score for the first 4 tests ?
(1) N+20 (2) N+10
(3) N+5 (4) N+4
8. | Inagroup of persons, 70% are males and 30% are married. If two-seventh
of the males are married, what fraction of the females is single ?
1 3
) = 2) =
(1] 5 (2) -
2 2
4) = 4) =
(4) 3 (4) E
9. |Two numbers A and B are respectively 20% and 28% less than a third
number C. By what percentage is the number B less than the number A 7
(1) 10% (2) 9%
(3) 8% 4) 7%
10. | What is the total number of digits printed if a book containing 150 pages

1s to be numbered from 1 to 150 ?
(1) 262 (2

(3) 332
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11. | Afatheris now three times as old as his son. Five years back he was four
times as old as his son. The age of the son is

(1) 12 years ' (2) 15years

(3) 16 years (4) 18years

12. | A person standing on the platform observes a train going in one direction
takes 4 seconds to pass him. Another train of same length going in opposite
direction takes 5 seconds to pass him. The time taken by the two trains
to cross each other will be

(1) 40 seconds (2) 50 seconds
9 9
(3) 31 seconds (4) %)— seconds
13. |[The least value of x? + 6x + 5 is
(1) 3 2) -3
(3) =4 (4) -5

14. 140% of a company’s employees are women. Out of the men, 60% are of age
more than 30 years. If there are 360 male employees below the age of 30,
what is the total number of employees in the company ?

(1) 1350 (2) 1500

(3) 1650 (4) 1800

15. | If Sunday comes 6 days from today and today is 15th October. The day on
1st January next year is

(1) Monday (2) Tuesday
(3) Friday (4) Saturday
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16. |Walkingat & ofhig usual speed, a man is 25 minutes late. His usual time
18
(1) 1% hours (2) 3% hours
(3) 23 hours (4) 27 hours

17. |By selling a table, a person earned a profit equal to ith of the price he
bought it. If he sold it for Rs. 375, what was the cost price ?
(1) 300 (2) 320
(3) 3125 (4) 325

18. |How much should a person lend at simple rate of interest of 15% in order
to have Rs. 784 at the end of 1% years ?
(1) 610 (2) 620
(3) 640 (4) 650

19. |If the numbers between 1 to 65 are divisible by 4 are written in reverse
order then which of the following numbers will be at 10th place ?
(1) 44 (2) 40
(3) 32 (4) 28

20. |Two glasses of equal volume are respectively half and 2th filled with milk.
They are then filled to the brim by adding water. Thejr contents are
thenpoured into another vessel, What will be the ratio of milk to water in
this vessel ?

(1) 3:1 (2) 3:2
(3) 2:3 4) 5:3
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21.

A river flows north to south and on the way turns right and goes in a
semi-circle round a hill, and then turns left at right angles. In which
direction is the river finally flowing ?

(1) East (2) North

(3) West (4) South

22.

A number when divided by 6 leaves remainder 3. When the square of the
same number is divided by 6, the remainder is

(1) 0 2) 1
(3) 2 4) 3

23.

3 year ago, the average age of a family of 5 members was 17 years. A baby
having been born, the average age of the family is the same today. The

present age of the baby is
(1) 2years (2) 3years
(3) 4 years 4) 1% years

24.

Geeta bought an oven and paid 10% less than the original price. She sold
it with 30% profit on the price she had paid. What % of profit did Geeta

carn on the original price ?
(1) 32% (2) 25%
(3) 17% (4) 15%

25.

In what ratio must a grocer mix two varieties of tea worth Rs. 60 a kg.
and Rs. 65 a kg. so that by selling the mixture at Rs. 68.20 a kg. he may
gain 10% ?

(1) G52 (2) 3:4

(3) 3:5 (4) 4:5
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26. | Which statement is correct for Indian Planning Commission ?
(1) Itisnot defined in Indian Constitution

(2) Members and Vice-Chairperson of it do not have fixed working

duration
(3) Members do not require any minimum education

(4) All of these

27. |VAT is imposed

(1) Directly on consumer

(2) On final stage of production
(3) On first stage of production

(4) On all stages between production and final sale

28. | The working of SEBI includes
(1) To regulate the dealings of share market
(2) To check the foul dealings in share market

(3) To control the inside trading of shares

(4) All of the above

29. |The rate at which banks lend to RBI is known as
(1) Bank Rate (2) Repo Rate

(3) Reverse Repo Rate (4) Interest Rate
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30. | Which of the following is a better measure of economic development ?
(1) Employment (2) Size of Export
(3)  Rural Consumption (4) National Income
31. |The largest source of National Income in India is
(1) Service Sector (2) Agriculture
(3) Industrial Sector (4) Trade Sector
32. | Devaluation means
(1) To reduce the value of home currency in other currency
(2) To appreciate the value of home currency
(3) Toissue new currency in place of old currency
(4) None of the above
33. | Which revenue earned by the Union Government is not distributed among
State Government ?
(1) Income Tax (2) Excise Duty
(3) Custom Duty (4) None of the above
34. |In which petroleum product the government has decided to mix ‘marker’
for identifying adulteration ?
(1) Diesel (2) Kerosene
(3) Petrol (4) Naptha
35. | Which factor among the following creates obstacle in measuring correct

estimate of national income ?

(1) Existence of non-monetised sector
(2) Low rate of savings

(3) Inflation

(4) Under employment
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30. | Which of the following is a better measure of economic development ?
(1) Employment (2) Size of Export
(3)  Rural Consumption (4) National Income

31. | The largest source of National Income in India is
(1) Service Sector (2) Agriculture
(3) Industrial Sector (4) Trade Sector

32. |Devaluation means
(1) To reduce the value of home currency in other currency
(2) To appreciate the value of home currency
(3) To issue new currency in place of old currency
(4) None of the above

33. | Which revenue earned by the Union Government is not distributed among
State Government ?
(1) Income Tax (2) Excise Duty
(3) Custom Duty (4) None of the above

34. |In which petroleum product the government has decided to mix ‘marker’
for identifying adulteration ?
(1) Diesel (2) Kerosene
(3) Petrol (4) Naptha

35. | Which factor among the following creates obstacle in measuring correct

estimate of national income ?
(1) Existence of non-monetised sector
(2)  Low rate of savings

(3) Inflation
(4)  Under employment
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Scheduled bank ig the bank which ig

(1) Based at foreign country

(2) Not nationalised
(3) Nationah'sed

(4) Includeq in the Second Schedule of RBI

The regulator of Micro Finance jn Indig ig
(1) Ministry of Finance

(2) Reserve Bank of India

(3) Ministry of Urban Development

(4) None of the above

‘Open market Operation’ is g part of

(1) Labour Policy (2) Income Policy
(3) Credit Policy (4) Fiscal Policy
Which tax ig collected by Panchayat 9

(1) Sales Tax (2) Land Revenue

(3) Custom Duty (4) Taxon Local Fajrs

Which place India holgsg In milk Production 9

(1) First (2) Second
(3) Third

(4) None of the aboye

Mobile Number Portabﬂity Service hag been launcheq nation wide ip,

(1) New Delhj (2) Faridabad
(3) Rohtak

(4) None of the above

EE-201 6-Code-]). SET-X
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‘Closed Economy’ is that economy in which

(1) Only export takes place
(2) Money éupply 1s fully controlled
(3) Deficit financing takeg place

(4) Neither exXport nor import takes place

43.

The aim of Differentiated Interest Scheme was to provide concessional

loans to

(1) Weaker Section of Society
(2)  Public Sector Industries
(3) Public Limited Companies

(4) Large Export Houses

44,

UNDP has introduced anew poverty, index known as
(1) Human Poverty Index

(2)  Social Poverty Index

(3)  Multi-Dimentional Poverty Index

(4)  None of the above

TYMOBA-EE-2016-C0de-D- SET-X

45.

The process of Budget making after re-evaluating every item of

expenditure in every financial year is known as
(1) Performance Budgeting

(2)  Deficit Budgeting

(3)  Zero Base Budgeting
(4)  All of the above




No, Questiong [
Inérease In net RBJ credit for Centra] Government representg
(1) Budgetaly Deficit (2) Revenye Deficit
(

(3)  Fiscal Deficit
(1) Karnatakg (2) Madhya Pradegh
(3)

(1) Haryang

(3) Uttarakhand

(4) Uttar Pradegh
TYMOBA-EE
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Qu&sotion Questions

Read the passage carefully ang select the right option in the questiong
o1 to 55. |

We Indians, who have bheen struggling for our rights and have finally
achieved them, are correct to forget that g right by itself is Incomplete

(1) Ifthe society is illiterate

(2) If they are Imperfect

(3)  Without the corresponding obligationg
(4)  Without Support from the press

52. According to the writer, if we think excessively in termg of rights and
miserably in terms of obligation.

(1) we achieve our targets
(2)  we become slaves of the press
(3) the nation becomes strong

(4) we become critics J
TYMOBA-EE-2016-Code-D- SET-X (11 )
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According to the writer, the pregg fought for its freedom from
(1) governmenta] interference (2) the stakeholders
(3) legal aggravations

(4) foreign mercenaries

The writer believes that
(1) the press should be suppresseq

(2) Ideas and thoughts be controlled

(3)  govt. likes to give freedom to the press
(4) it is wrong to impede th

e freedom of the press

55. According to the writer, by Imposing constraints
(1) we change the society that takes liberties
(2)  we cause the idea and thought to spread
(3) we change the situation for the better

(4) we wipe out the idea totally

Read each sentence and select

Directions for questions 56 to g -
the error,
56. |The assurance that / he will be cured from the diseage / leased him / ver much.
~he assurance that ——-ecured from the diseage / p y
(1) (2) (3) (4)

Do you object tome / sitting in this class/and reading a hook / for a short while ?
=0 you object to me 2LUNZ 1N this class alld reading a book 2L a short while ?

(1) (2) 3) (4)

I had worked / in this / college for /920 years.
(1) (2) (3) (4)

Unless you build / your self-esteem / You cannot achieve / the Success in your Jife.
—==655 you build —e=nbos 1N your life,

(1) (2) (3) (4)

There is more satisfaction / for being a caring person / than in just / being a nice DErson.
(1) (2) (3) (4)

TYMOBA~EE~2016-Code-D- SET-X (12)
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Directions for questions 61 to g5 - select the best option for the

underlined part of the sentence.

Rahul decided to leave the contract because he never got in with any of

his associates.

(1) Got out (2) Got of

(3) Got on (4)  Got together

62. |She always gets very worked up before examinations.
(1) tired (2)  enthusiastic
(3) influenced (4)  excited
63. [He knows how to break in horges.
(1) stop (2) ride
(3) train (4)  all the above

64. |[Gurmect has been working so hard for the past four weeks, that the
burden is telling against his health.
(1) telling upon (2) telling about

(3)  telling off (4) telling by

65. | The master plan has fallen out due to scarcity of money.

(1) fallen apart (2) fallen through

(3) fallen back (4) fallen by

TYMOBA-EE-2016-Code-D- SET-X (13)
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Directiong for questiong 66 to 70 : Fij] ip, the blanks with the correct
option.

called
(1) nepotism (2) blasphemy
(3) conspiracy (4) eccentricity

(1) Epicurean (2)  Expiation
(3) Magnum opus (4)  Apostate

If I refuse your invitation it’s

haven’t any time,
(1) not that, because

(2) not because, because
(3) because, also

(4) not also, becauge

I felt sure would die his money would gy t, his son.

(1) he, and (2) that he, but
(3) that he, and that (4) that he, and

A woman who displays tantrums to attract attention ig called
(1) coquette (2) dandy

(3) philatelijst (4)  immorg]
TYMOBA-EE-2016-Code-D- SET-X (14)
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(1) There were fewer students in the class than exp
(2) There were fewér students ip the class th

73. (1) Though he Was appointed a5 5 lecturer, he S0on realized that he was
not cut in for that kind of work.
(2) Though he Was appointed ag 5 lecturer, he S0on realized that he was
not cutout for that kind of work.
(3) Though he Was appointed ag 5 lecturer, he soon realized that he was
not cut up tq that kind of work.
(4)

Though he Was appointed a5 5 lecturer, he Soon realize

not cut out to that kind of work.

TYMOBA-EE~2016-Code-D- SET-X (15)
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Dlrectlons for questions 71 o 75 : select the OIammatlcaHy corrg
sentence

ected

en expected

d that he was




Question | .
Questions

Jasmine is the most fussy girl that I had met.

Jasmine is the most fussy gir] that | met.
(3)  Jasmine ig the most fussy girl that I had ever met.

Jasmine is the most fussy girl that [ have ever met.

(1) The boy will benefit from the experience

(2) The boy will benefit by the experience

(3) The boy will benefit of the experience
(4) The boy will benefit out of the experience

Government ?

(1) Rohtak (2)

(3) Gurgaon

(2) Kerala
(4) Odisha

To improve rural h'velihoods,

Campaign’ under the Rura]
(1) Arun Jaitley

(2)  Rajnath Singh

(3) J.P.Nadda

(4) Chaudhary Birender Singh
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79.

Which part of the Indian Constitution deals with Fundamental Rights ?

(1) Part III (2) PartIV
(3) PartV ' (4) Part VI

Which day is celebrated as “‘World Peace Day’ ?
(1) 26thdJuly (2) 3rd August
(3) 21st September (4) 9th August

81.

Which state has second largest forest area in India ?
(1) Madhya Pradesh

(2) Arunanchal Pradesh

(3) Chattisgarh

(4) Maharashtra

82.

The Prime Minister of India is
(1) The Chief of Government
(2) Chief Advisor to President
(3) Head of Council of Minister
(4) All the above

83.

In which of the following fields Nobel Prize is not given ?
(1) Physics (2) Mathematics

(3) Chemistry (4) Medicine

TYMOBA-EE-2016-Code-D- SET-X (17)




Questions

84. |Who discovered Diode Bulb ?
(1) Lee De Forest (2)  Archimedes
(3) Henry Becquerel 4) SirJ. S.F leming
Forged documents are detected by
(1) Ultra violet rays (2) Infra-red rays
(3) Beta rays (4) Gamma rays
86. | Which planet is called the twin of the earth ?
(1) Neptune (2) Venus
(3) Mars (4) Saturn
87. | Which of the following method does not réquire medium for heat transfer?
(1) Conduction (2)  Convection
(3) Radiation (4) None of these
88. |The Vikram Sarabhaj Space centre is located at
(1) Sriharikota (2)  Trivandrum
(3) Trombay (4) Bengalury
89. |Name the hormone that stimulates the secretion of gastric Juice
(1) Renin (2) Enterokinage
(3) Enterogastrone (4) Gastrin
90. | Which of the following is the major language of World Wide Wl 2

(3) ASPNET (4) JAVA

TYMOBA-EE-ZOIG-Code-D- SET-X (18)
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91. |The term ‘Goods are scarce’ means
(1) There is no supply of goods
(2) There is no demand of goods

(3) Goods are limited relative to desires

u 1 (4) Goods are expensive because of shortage

92. | Which of the following states was first to adopt the Panchayati Raj ?
/ (1) Andhra Pradesh (2) Gujarat .
(3) Bihar (4) Rajasthan

93. | Who started the first English Newspaper in India ?
(1) Bal Gangadhar Tilak

e —— 4

(2) RajaRammohan Roy
(3) J.A. Hickey
(4) Lord William Bentick

94. | Which among the following Five Year Plans could not start on its due

time ?
(1) 12th (2) 11th
(3) 9th (4) 8th

95. | The instrument used to measure pressure
(1) Anemometer (2) Aneroid Barometer

(3) Thermometer (4) Hygrometer

TYMOBA-EE-2016-Code-D- SET-X (19)
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96. |Cioud Burst means

(1) Formation of artificial rain

(2)  Abnormally heavy downpour of rain associated with Thunderstorm
(3)  Presence of scattered flakes of cloud in the sky

(4) Sowing of seeds of a crop in cloudy weather

97. |The idea of parliamentary form of government is adopted from
1) .8 (2) USSR
3) U.K. (4) Ireland

98. | The Industrial Development Bank of India was set up in
(1)  July 1968 (2) July 1966
(3) July 1964 (4) July 1962

99. |Uttarakhand came into existence on
(1) 2 November 2000 (2) 6 November 2000
(3) 7 November 2000 (4) None of these

100. | The constitution is the supreme law of the land. It ig protected by
(1) The Parliament

(2) The President

(3) The Supreme Court

(4) The Constituent Assembly

TYMOBA-EE-2016-Code-D- SET-X (20)
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